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INTRODUCTION TO VHDL
Experiment 11 (SPI Communication) Report

1. When SCK (clock signal generated by master device) is not used, that is when the slave device uses its own clock sources, what kind of problems will occur? Give example(s).
2. What would be the difference in resource usage of two cases; a) Serialization/parallelization is done by shift-registers. b) Serialization/parallelization is realized by multiplexers/demultiplexers? What are their advantages/disadvantages?
3. Can you suggest a way to synchronize the receiver's own clock when master clock is not used?
Note : Follow the "turn-in" procedure explained in Experiment-2 report template.. 

